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Part A: Vocabulary and Grammar
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will

see four words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase
that best completes the sentence. Then mark your answer sheet.

76-

77-

78-

84-
85-
86-
87-

88-
89-
90-
91-
92-

| to tell ------------ some good news about the holiday but he was not in.

1) called him / up 2) called / him up 3) called up him / him 4) called him up / him

Some people believe that the Internet has brought a lot of benefits, ------------- some others
hold an opposite view.

1) so that 2) whereas 3) because 4) whether

I am sure we will succeed and get the best result as we have worked ----------- .

1) such hard 2) enough hard 3) so hard enough 4) hard enough

A: "Why didn't Father answer the doorbell?"

B: '"He ----------- the bell."

1) may not have heard 2) should not have heard

3) may not hear 4) should not hear

For years, scientists have been trying to find good answers to this -------------- .

1) puzzle 2) capacity 3) purpose 4) projectio

Population experts ------------- the total number of people living on the earth as about seven
billions.

1) evaluate 2) predict 3) estimate 4) express

There is a user manual which provides ------------ on how to operate the computer.

1) posture 2) envelope 3) instruction 4) involvement

Throughout history, there have been many people who have ----------- all their efforts to
improve the environment.

1) floated 2) devoted 3) located 4) recorded

She is highly intelligent but her work lacks ----------- .

1) formation 2) connection 3) expression 4) organization

Will you quickly ------------- me on what has been happening?

1) update 2) include 3) promise 4) concentrate

We need a secretary who is really ----------- in managing the office and making it run well.

1) voluntary 2) efficient 3) reflected 4) self-employed

She was running fast, that is why she is now breathing ------------ .

1) heavily 2) extremely 3) specifically 4) appropriately

Part B: Cloze Test
Directions: Questions 88-92 are related to the following passage. Read the passage and

decide which choice (1), (2), (3), or (4) best fits each space. Then mark your answer
sheet.

Wages, or salaries as they are also called, are payments by employers to their employees in return

for work. Sometimes they are (88) ------------ on time — the worker being paid at a rate of so much
an hour or so much a week, and sometimes they are paid for the (89) ------------ produced — a shirt
maker, for example, is being paid so much for every shirt made. Wages are paid in money, but
sometimes they (90) ------------ payments in kind, as when a caretaker is provided with a rent-free
house. This type of payment is (91) ----------- controlled by law,(92) ----------- the worker is
protected against a bad employer who might try to pay all or nearly all this wage in kind.

1) passed 2) crossed 3) based 4) awarded

1) individuals 2) sources 3) features 4) articles

1) devote 2) require 3) include 4) influence

1) socially 2) strictly 3) straightly 4) similarly

1) for 2) so that 3) so as 4) in order to
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Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed

by four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4).
Then mark your answer sheet.

93-

94-

95-

96-

PASSAGE 1:

The idea of being employed, or working in exchange for money paid as salary or wages, is a
relatively recent one. It started fully with the Industrial Revolution in the 1760s. Thousands of years
before then, when primitive tribes wandered the Earth, everyone—man, woman, and child—worked
just to survive, by hunting, gathering food, making clothes, cooking, looking after babies, and
handling the houses.

When the first civilizations developed, a form of employment was forced on people without their
choice. It was called slavery. Slaves were not paid for their work, and were vital to the economy of
early civilizations such as ancient Egypt and Greece. In later centuries slaves played a key role in
the economy of European overseas colonies from the 16th century onwards, as well as in the cotton
economy of the southern United States up to the American Civil War in 1861. Slaves were forced to
work at anything their masters ordered them to, be it field work, housekeeping, or road building.
Slaves were often worked till they dropped dead, and were beaten if they refused to work.

Another form of employment called farming emerged in the Middle Ages in Europe. Farmers
were employed by lords to work the land for the lords' benefit. In return they received shelter and a
small plot to farm for themselves. They could not leave the lord's estate nor change their
employment if they wanted to. Like slaves, they were not paid money in return for their labour.

The passage is mainly about ----------- .

1) the history of employment 2) the Industrial Revolution

3) employment in the first civilization 4) slavery in the American Civil War
According to the passage, in primitive time ---------- .

1) employees worked without force 2) people worked by hunting animals
3) everyone worked to continue to live 4) employers refused to hire people

It is stated in the passage that slaves ----------- .
1) received low salaries

2) did not have to obey their masters

3) were no longer important in the 16th century
4) had an important role in European colonies
In the Middle Ages, farmers ------------ .

1) were paid very little money 2) were given places to live in
3) could not have their own land 4) were allowed to change their jobs
PASSAGE 2:

Every cloud is made up of millions of tiny droplets of either water or particles of ice floating
together in the air. The air always contains a certain amount of water vapour (that is, water in the
form of gas), which is invisible. The amount of water vapour that air can contain depends on the
air's temperature; the cooler the air, the less water it can hold.

When air cools, some of the water vapour will eventually condense; that is, it will form tiny,
visible water droplets. If these are on the ground we call them dew, if near the ground we call them
fog or mist, and if they are up in the sky we call them clouds. When the water droplets are first
reduced, they measure only a fiftieth of a millimetre across and are light enough to float in air. If the
air goes on cooling, the drops get bigger and may fall as rain.
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98-

100-
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When air rises it cools, so when warm, moist air is forced to rise, clouds are likely to form.
Mountains cause air to rise and thus mountainous lands are often cloudy. Air may also be forced
upwards through intense heating of the land or by the meeting of two masses of air, one cold and
the other warm and moist. The warm air rises up over the cold air, causing it to cool and clouds to
form. Once clouds have formed, they will remain until the air is warmed or rain falls.

The amount of water vapour that air can hold depends on ---------- .

1) tiny droplets 2) vapour's temperature

3) temperature of the air 4) particles of ice in the vapour

According to the passage, very small visible water drops on the ground are called -------- .
1) dew 2) fog 3) rain 4) cloud

Which statement about clouds is NOT true?

1) Once clouds have formed, they will remain until the air is warmed and rain falls.

2) When air rises, it cools, so when warm, moist air is forced to rise, clouds are likely to from.

3) When the air goes on cooling, water drops get bigger and may fall as rain.

4) When warm air rises up over the cold air, it gets warmer and clouds are formed.

According to the reading, mountainous areas are often cloudy because in these places

1) warm air rises up over the cold air

2) two masses of warm air meet

3) they are usually on the way of rain carrying winds

4) water droplets are of enough weight for cloud formation



